Mojave Basin Area Watermaster

Temporary Transfers 1995-96 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Apple Valley Ranchos Water Company	Apple Valley Development	TempCarryover in Lieu of Replaceme	ent 47	\$45.00	\$2,115.00	Alto	4/24/1996
Apple Valley Ranchos Water Company	Van Burger, Carl	TempCarryover in Lieu of Replacement	ent 674	\$45.00	\$30,330.00	Alto	4/24/1996
Baldy Mesa Water District	Hrubik, Thomas A.	TempCarryover in Lieu of Replacement	ent 1,263	\$50.00	\$63,150.00	Alto	4/24/1996
Reed, Delbert and Linda	Clark, Kenneth and Barbara	TempCarryover FPA	113	\$0.00	\$0.00	Alto	4/24/1996
Agcon, Inc.	Rancho Las Flores Ltd Partnership	TempCarryover in Lieu of Replaceme	ent 19	\$35.00	\$665.00	Alto	5/22/1996
County Service Area 70 C	County Service Area 42	TempCarryover in Lieu of Replaceme	ent 10	\$50.00	\$500.00	Alto	5/22/1996
County Service Area 70 C	Silver Lakes Association	TempCarryover in Lieu of Replaceme	ent 55	\$50.00	\$2,750.00	Alto	5/22/1996
County Service Area 70 J	County Service Area 42	TempCarryover in Lieu of Replaceme	ent 57	\$50.00	\$2,850.00	Alto	5/22/1996
County Service Area 70 L	County Service Area 42	TempCarryover in Lieu of Replacement	ent 205	\$50.00	\$10,250.00	Alto	5/22/1996
Hesperia Water District	Rancho Las Flores Ltd Partnership	TempCarryover in Lieu of Replacement	ent 309		\$1.00	Alto	5/22/1996
Hesperia Water District	Rancho Las Flores Ltd Partnership	TempCarryover FPA	2,400		\$1.00	Alto	5/22/1996
Victor Valley Water District	Bass, Newton T.	TempCarryover in Lieu of Replaceme	ent 411	\$50.00	\$20,550.00	Alto	5/22/1996
Victor Valley Water District	Dolch, Robert and Judith	TempCarryover in Lieu of Replacement	ent 271	\$50.00	\$13,550.00	Alto	5/22/1996
Victor Valley Water District	Kemper Campbell Ranch	TempCarryover in Lieu of Replacement	ent 176	\$50.00	\$8,800.00	Alto	5/22/1996
Victor Valley Water District	Lake Arrowhead Community Services District	TempCarryover in Lieu of Replaceme	ent 626	\$50.00	\$31,300.00	Alto	5/22/1996
Victor Valley Water District	Lounsbury, Peter J. and Carolyn	TempCarryover in Lieu of Replaceme	ent 45	\$50.00	\$2,250.00	Alto	5/22/1996
Victor Valley Water District	Murphy, Bernard H.	TempCarryover in Lieu of Replacement	ent 23	\$50.00	\$1,150.00	Alto	5/22/1996
Victor Valley Water District	Silver Lakes Association	TempCarryover in Lieu of Replacement	ent 306	\$50.00	\$15,300.00	Alto	5/22/1996
Victor Valley Water District	Vail, Joseph B. and Paula E.	TempCarryover in Lieu of Replaceme	ent 118	\$50.00	\$5,900.00	Alto	5/22/1996
Mojave Water Agency	Boyce, Kenneth and Willa	Carryover-FPA Purchase Program	3	\$40.00	\$120.00	Alto	7/24/1996
Mojave Water Agency	Burns, Annie L.	FPA-FPA Purchase Program	1	\$40.00	\$40.00	Alto	7/24/1996
Mojave Water Agency	Luckey, Manley J.	FPA-FPA Purchase Program	22	\$40.00	\$880.00	Alto	7/24/1996

April 27, 2016 Page 1 of 6

Mojave Basin Area Watermaster

Temporary Transfers 1995-96 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Mojave Water Agency	Polich, Lee	Carryover-FPA Purchase Program	4	\$40.00	\$160.00	Alto	7/24/1996
Mojave Water Agency	Rancho Las Flores Ltd Partnership	FPA-FPA Purchase Program	149	\$40.00	\$5,960.00	Alto	7/24/1996
Mojave Water Agency	Reed, Delbert E. and Linda	Carryover-FPA Purchase Program	8	\$40.00	\$320.00	Alto	7/24/1996
Mojave Water Agency	Summit Valley Ranch	FPA-FPA Purchase Program	6	\$40.00	\$240.00	Alto	7/24/1996
Mojave Water Agency	Thomas Farms	FPA-FPA Purchase Program	5	\$40.00	\$200.00	Alto	7/24/1996
Mojave Water Agency	Thompson, Rodger	Carryover-FPA Purchase Program	3	\$40.00	\$120.00	Alto	7/24/1996
Apple Valley Ranchos Water Company	Apple Valley Development	TempCarryover FPA	519	\$27.00	\$14,013.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Burns, Annie L.	TempCarryover FPA	156	\$25.00	\$3,900.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Clear View Farms	TempCarryover FPA	150	\$27.00	\$4,050.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Dexter, Justin P.	TempCarryover FPA	350	\$25.00	\$8,750.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Fisher, Dolores, Dr.	TempCarryover FPA	46	\$25.00	\$1,150.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Lawson, Ernest and Barbara	TempCarryover FPA	15	\$25.00	\$375.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Low, Robert	TempCarryover FPA	380	\$25.00	\$9,500.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Luckey, Manley J.	TempCarryover FPA	700	\$25.00	\$17,500.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Reed, Delbert E. and Linda	TempCarryover FPA	60	\$25.00	\$1,500.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Tatro, Richard K. and Sandra A.	TempCarryover FPA	244	\$25.00	\$6,100.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Vogler, Albert H.	TempCarryover FPA	98	\$25.00	\$2,450.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Weber, Dave	TempCarryover FPA	76	\$25.00	\$1,900.00	Alto	8/28/1996
Baldy Mesa Water District	Hrubik, Thomas A.	TempCarryover FPA	1,235	\$25.00	\$30,875.00	Alto	8/28/1996
Mariana Ranchos County Water District	Brown, Bobby G. and Valeria R.	TempCarryover FPA	30	\$45.00	\$1,350.00	Alto	8/28/1996
Mariana Ranchos County Water District	Nunn, Donald and Pearl	TempCarryover FPA	35	\$45.00	\$1,575.00	Alto	8/28/1996
Mariana Ranchos County Water District	Parker, David E.	TempCarryover FPA	13	\$45.00	\$585.00	Alto	8/28/1996

April 27, 2016 Page 2 of 6

Mojave Basin Area Watermaster

Temporary Transfers 1995-96 Water Year

Amount of

Date

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Accepted by Watermaster
Mariana Ranchos County Water District	Turner, Robert	TempCarryover FPA	23	\$45.00	\$1,035.00	Alto	8/28/1996
Thompson, James A.	Ormsby, Harry G.	TempCarryover FPA	40	\$1.00	\$40.00	Alto	8/28/1996
Thompson, James A.	Van Leeuwen Family Trust	TempCarryover FPA	40	\$1.00	\$40.00	Alto	8/28/1996
Thunderbird County Water District	Luth, Ken	TempCarryover FPA	20	\$45.00	\$900.00	Alto	8/28/1996
Thunderbird County Water District	Van Leeuwen Family Trust	TempCarryover FPA	5	\$45.00	\$225.00	Alto	8/28/1996
Apple Valley Ranchos Water Company	Dexter, Justin P.	TempCarryover FPA	140	\$25.00	\$3,500.00	Alto	9/25/1996
Apple Valley Ranchos Water Company	Vogler, et al.	TempCarryover FPA	154	\$25.00	\$3,850.00	Alto	9/25/1996
		Alto Subtotal (51)	11,858		\$334,615.00		

April 27, 2016 Page 3 of 6

Mojave Basin Area Watermaster

Temporary Transfers 1995-96 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Date Accepted by Watermaster
Antelope Valley Dairy	Taylor, Tom	TempCarryover in Lieu of Replacement	ent 320	\$20.00	\$6,400.00	Baja	5/22/1996
Lee, Vin J. T.	Hilarides, Franklin G.	TempCarryover in Lieu of Replacement	ent 31	\$0.00	\$0.00	Baja	5/22/1996
Newberry Community Services District	Parker, George R.	TempCarryover in Lieu of Replacement	ent 1	\$0.00	\$0.00	Baja	5/22/1996
Nu View Development, inc.	Hilarides, Franklin G.	TempCarryover in Lieu of Replacement	ent 291	\$0.00	\$0.00	Baja	5/22/1996
Hutchison, William O.	De Jong, Alan L.	TempCarryover FPA	400	\$0.00	\$0.00	Baja	7/24/1996
Mojave Water Agency	Antelope Valley Dairy	FPA-FPA Purchase Program	346	\$40.00	\$13,840.00	Baja	7/24/1996
Mojave Water Agency	Arguelles, Alfredo A.	Carryover-FPA Purchase Program	18	\$40.00	\$720.00	Baja	7/24/1996
Mojave Water Agency	Carter, John Thomas	Carryover-FPA Purchase Program	44	\$40.00	\$1,760.00	Baja	7/24/1996
Mojave Water Agency	Cho Brothers Ranch	FPA-FPA Purchase Program	3	\$40.00	\$120.00	Baja	7/24/1996
Mojave Water Agency	Daljo Corporation	Carryover-FPA Purchase Program	1	\$40.00	\$40.00	Baja	7/24/1996
Mojave Water Agency	De Jong, Alan L.	Carryover-FPA Purchase Program	56	\$40.00	\$2,240.00	Baja	7/24/1996
Mojave Water Agency	Hosking, John W. and Jean	Carryover-FPA Purchase Program	4	\$40.00	\$160.00	Baja	7/24/1996
Mojave Water Agency	Johnson, James R. and Ellen	Carryover-FPA Purchase Program	3	\$40.00	\$120.00	Baja	7/24/1996
Mojave Water Agency	The 160 Newberry Ranch	FPA-FPA Purchase Program	57	\$40.00	\$2,280.00	Baja	7/24/1996
Mojave Water Agency	Western Horizon Associates, Inc.	FPA-FPA Purchase Program	25	\$40.00	\$1,000.00	Baja	7/24/1996
Antelope Valley Dairy	Taylor, Tom	TempCarryover FPA	158	\$15.00	\$2,370.00	Baja	8/28/1996
Antelope Valley Dairy	Western Horizon Associates, Inc.	TempCarryover FPA	1,087	\$15.89	\$17,272.43	Baja	8/28/1996
Chuang, Marshal	Johnson, James R. and Ellen	TempCarryover FPA	12	\$30.00	\$360.00	Baja	8/28/1996
St. Antony's Orthodox Monastery	Hutchison, William O.	TempCarryover FPA	150	\$25.00	\$3,750.00	Baja	8/28/1996
St. Antony's Orthodox Monastery	Hutchison, William O.	TempCarryover FPA	75	\$25.00	\$1,875.00	Baja	8/28/1996
Triple H Partnership	Arguelles, Alfredo A.	TempCarryover FPA	550	\$30.00	\$16,500.00	Baja	8/28/1996
Cheyenne Lake, Inc.	Desert Lakes Corporation	TempCarryover FPA	20	\$30.00	\$600.00	Baja	9/25/1996

April 27, 2016 Page 4 of 6

Mojave Basin Area Watermaster

Temporary Transfers 1995-96 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of Transfer	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Accepted by Watermaster
Fundamental Christian Endeavors, Inc.	Chastain, W. C.	TempCarryover FPA	87	\$0.00	\$0.00	Baja	9/25/1996
Harter, Joe and Sue	Morris, Julia	TempCarryover FPA	289	\$5.00	\$1,445.00	Baja	9/25/1996
Horton, John M.D.	Hutchison, William O.	TempCarryover FPA	30	\$10.00	\$300.00	Baja	9/25/1996
Horton's Children's Trust	Hutchison, William O.	TempCarryover FPA	95	\$10.00	\$950.00	Baja	9/25/1996
Lake Jodie Property Owners Association	Angerer, Robert J.	TempCarryover FPA	23	\$37.24	\$856.52	Baja	9/25/1996
Lake Jodie Property Owners Association	Desert Lakes Corporation	TempCarryover FPA	300	\$30.00	\$9,000.00	Baja	9/25/1996
Levine, Leslie, Dr.	Harter, Joe and Sue	TempCarryover FPA	300	\$5.00	\$1,500.00	Baja	9/25/1996
Sundown Lakes, Inc.	Johnson, James R. and Ellen	TempCarryover FPA	40	\$15.00	\$600.00	Baja	9/25/1996
Wet Set, Inc.	Desert Lakes Corporation	TempCarryover FPA	20	\$30.00	\$600.00	Baja	9/25/1996
Wet Set, Inc.	Smith, William E.	TempCarryover FPA	10	\$30.00	\$300.00	Baja	9/25/1996
WLSR, Inc.	Johnson, James R. and Ellen	TempCarryover FPA	36	\$15.00	\$540.00	Baja	9/25/1996
		Baja Subtotal (33)	4,882		\$87,498.95		
Mead, G. C.	Gains, Jack and Mary	TempCarryover in Lieu of Replaceme	nt 20	\$0.00	\$0.00	Centro	5/22/1996
Ykema Trust	Soppeland, Wayne	TempCarryover in Lieu of Replaceme	nt 90	\$1.00	\$90.00	Centro	5/22/1996
Ykema Trust	Ykema Harmsen Dairy	TempCarryover in Lieu of Replaceme	nt 40	\$0.00	\$0.00	Centro	5/22/1996
Sun "N" Sky Country Club	Ruisch, Dale W.	TempCarryover FPA	50	\$0.00	\$0.00	Centro	6/19/1996
Mojave Water Agency	Hills Ranch Inc. (Melvin Hill)	Carryover-FPA Purchase Program	16	\$40.00	\$640.00	Centro	7/24/1996
Mojave Water Agency	Soppeland, Wayne	Carryover-FPA Purchase Program	32	\$40.00	\$1,280.00	Centro	7/24/1996
		Centro Subtotal (6)	248		\$2,010.00		

April 27, 2016 Page 5 of 6

Mojave Basin Area Watermaster

Temporary Transfers 1995-96 Water Year

Transferee (Transferred to:)	Transferor (Transferred from:)	Type of	Amount of Transfer (Acre-feet)	Price per Acre-foot	Total Cost of Transfer	Subarea	Accepted by Watermaster
County Service Area 29	Lucerne Valley Partners	TempCarryover in Lieu of Replacemen	t 25	\$1.00	\$25.00	Este	5/22/1996
Juniper Riviera County Water District	Burns, Bob	TempCarryover in Lieu of Replacemen	t 14	\$75.00	\$1,050.00	Este	5/22/1996
Mojave Water Agency	Club View Partners	Carryover-FPA Purchase Program	52	\$40.00	\$2,080.00	Este	7/24/1996
Mojave Water Agency	Dahlquist, George R.	FPA-FPA Purchase Program	29	\$40.00	\$1,160.00	Este	7/24/1996
Mojave Water Agency	Pettigrew, Dan and Jill	FPA-FPA Purchase Program	66	\$40.00	\$2,640.00	Este	7/24/1996
Mojave Water Agency	Stringer, W. Edward	Carryover-FPA Purchase Program	28	\$40.00	\$1,120.00	Este	7/24/1996
		Este Subtotal (6)	214		\$8,075.00		
Chamisal Mutual Water Company	Brown, Sue	TempCarryover in Lieu of Replacemen	t 2	\$54.00	\$108.00	Oeste	5/22/1996
County Service Area 70 L	Aerochem, Inc.	TempCarryover in Lieu of Replacemen	t 564	\$50.00	\$28,200.00	Oeste	5/22/1996
County Service Area 70 L	County Service Area 70 G	TempCarryover in Lieu of Replacemen	t 22	\$50.00	\$1,100.00	Oeste	5/22/1996
Mojave Water Agency	Brown, Sue	FPA-FPA Purchase Program	1	\$40.00	\$40.00	Oeste	7/24/1996
		Oeste Subtotal (4)	589		\$29,448.00		
		Total (100) 1	7,791		\$461,646.95		

April 27, 2016 Page 6 of 6